Full Adder

fl f2
X y z C S z= ci (carry in)
0 0 0 0 0 0 C = co (carry out)
1 0 0 1 1 1
2 0 1 0 1 1
3 0 1 1 1 0 2
4 1 0 0 1 1
5 1 0 1 1 0 2
6 1 1 0 1 0 2
7 1 1 1 1 1 3
C(x,y,z) = Sum(3,5,6,7) S(x,y,z) = Sum(1,2,4,7)
yz=00 yz=01 yz=11 yz=10 yz=00 yz=01 vyz=11 yz=10
00 01 11 10 00 01 11 10
1 =0 0 1 1
0 1 1 1 =1 1 1 1
1
C=xy + xz +yz S =xy'z' + xyz + x'y'z + x'yz'
S =z ) + z(xy +x'y")
yz=00 yz=01 vyz=11 yz=10 S =2Z'(x Oy) + z(xdy )"
00 01 11 10 S = (zO(x Oy))"'
0 1 yzZ =0
1 1 1 1 =1
z =Xy + xy'
z' = (x'y + xy")'
yz=00 yz=01 yz=11 yz=10 (x'y)" (xy')'
00 01 11 10 (x+y') (X'+y)
0 1 X(X'+y) + y'(X'+y)
1 1 1 1 Xz =0 xX'+ xy + x'y' +y'y
=1 Xy+x'y'
yz=00 yz=01 yz=11 yz=10
00 01 11 10 C=xy + xz+yz
0 1 C =z(xy' + x'y) + xy
1 i o
=1
(xdydlz (x+y)+2) (X +y)z xz' +yz'
x4 (yl2) (X + (y+2)) (X'(y + 2)) X'y + x'z

xlylz (X +y +2)



xTy?tz (xyz)'

F = ((ABC)'(DE)" ) (ABC)" + (DE)" ABC + DE
F=x0Ovy
X y z xOy (xOy)dz yOz x0O(yOz) xOyOz
0 0 0 0 0 0 0
1 1 0 1 0 1 1
2 0 1 0 1 1 1
3 0 1 1 1 0 0
4 1 0 0 1 1 1
5 1 0 1 1 0 0
6 1 1 0 0 0 0
7 1 1 1 0 1 1

F(x,y,z) = Sum(1,2,3,4,5,7)

yz=00 yz=01 vyz=11 yz=10
00 01l 11 10

=0 0 1 1 1
=1 1 1 1 1
F=z+Xx'y+xy'
yz=00 yz=01 yz=11 yz=10
00 01 11 10
X= 0 1 1 1 z
x=1 1 1 1 1
yz=00 yz=01 vyz=11 yz=10
00 01 11 10
=0 0 1 1 1 X'y
=1 1 1 1 1
yz=00 yz=01 yz=11 yz=10
00 01 11 10
x=0 0 1 1 1 xy'
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